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FR. B, PR

=S PRI NERES PR 2022 55E (73S ) BAR
2024 ~ 20255 FE—=HA

(BB 3SPR) 5B R

( ZELEIEATT |, ZREATY(E)12075%R )

1. [A]l [B1 [C] [D] 6. [A]l [B]1 [C] [D]
2. [A]l [B]1 [C] [D] [Al [B] [C] [D]
3. [A]l [B] [C] [D] [Al [B] [C] [D]
il
5

0 o N

- [Al [B]1 [C] [D] [AT [B]1 [C] [D]
- [Al [B]1 [C] [D] 10. [AT [B] [C] [DI]

P0. Case analysis. (20 points) ( 3204 )

1 AR STEANSEXIEEE | 8 S 2 (MEITY)
HERKIEY SN ; FERE, e L&
N BT, BIHERESRRNABREIX, CT T T T 17 1T 1T T ]
I AN Y = N s
= |2 ZEEnESTiue. FSIEREE. [0] [0] [0] [0] [0] [0] [0] [0] [0] [O]
= |3 R E RIS - (S s [1] [1] [1] [2] [2] [1] [1] [2] (2] [1]
- %{ML{%% IREIRR | (XA R 01 2] 2] 2] 2] (2] (2] (2] (2] (2]
L . [31 [3] [3] [3] [3] [3] [3] [3] [3] [3]
4. (REFEEEE  AERET. &, TR, [4] [4] [4] [4] [4] [4] [4] [4] [4] [4]
[51 [5] [5] [51 [51 [51 [51 [51 [51 [5]
iz s - Il #iREs [V [=1[c1le] | 61 61 [61 [61 61 [6] [6] 61 [6] [6]
L [71 [71 [71 [71 (71 (71 [71 (71 [7] [7]
ey wE EE B [81 [8] [81 [8] [8] [8] [8] [8] [8] [&]
FERE O O 0O [91 [91 [91 [91 [91 [91 [91 [91 [91 [9]
—. True or False. (10 points, 1 point each) (&f&1% , #£10% )
1. [T]1 [F] 6. [T] [F1]
2. [T]1 [F] 7. [T1 [F1]
3. [T1 [F] 8. [T]1 [F1]
4. [T1 [F] 9. [T]1 [F1]
5. [T]1 [F] 10. [T] [F1]
—. Multiple choice. (20 points, 1 point each) ( 814 , 1£20%> )
1. [A]l [B] [C] [D] 6. [A] [B] [C] [D] 11. [A] [B] [C] [D] 16. [A] [B]1 [C] [D]
2. [A]l [B] [C] [D] 7. [A]l [B] [C] [D] 12. [A] [B] [C] [D] 17. [A] [B] [C] [D]
3. [A]l [B] [C] [D] 8. [A] [B]1 [C] [D] 13. [A] [B]1 [C] [D] 18. [A]l [B] [C] [D]
4. [A] [B1 [C] [D] 9. [A]l [B] [C] [D] 14. [A] [B] [C] [D] 19. [A] [B]1 [C] [D]
5. [A]l [B] [C] [D] 10. [A] [B]1 [C] [D] 15. [A] [B]1 [C] [D] 20. [A] [B]1 [C] [D]
=. Multiple choices. (20 points, 2 point each) ( 824 , 205 )

1. (20%3)

R - B Lt EEEE R

Fa. Short Essay Writing. (30 points) (Less than 200 words) ( ££30% )
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